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Diff03 for No.9844

7
d=(f(x)=(3x+5)") 2=(f(x)=3x"—4x—-4))
1
3=(f(x)=4/6x-5) .4=(f(x):—7 j
7x +4
_ 1 1
No0Ol S=|f(x)= ; ‘6:(f(x):—ﬁj
QP +2x+7) 3x-4
X (5x+8)
=f(x)=(5x+8)" (6x+5)) S=]f(x)= 3
i (6x+5)°) |
No2 : k = 3 ========================== ================c=======c=======c=====
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 0 | =7 | 0 | 14 | [ 1] T 0 | T 0 |
| =5 | 1 -6 | -1 12 | 2 | -6 | 1 6 | -2 |
| -4 | 2 | -5 | -2 | 10 | [ 31 -5 | 2 | S5 -4 |
| -3 | 3 -4 | -3 | 8 | [ 4 ] -4 | 3 4 | -6 |
| -2 | 4 | -3 | -4 | 6 | [ 5 | -3 | 4 | 31 -8 |
| -1 | 5 | -2 | -5 | 4 | | 6 | -2 | 5 | 2| -10 |
[ 0 | 6 | -1 -6 | 2 | 7 -1 6 | 1 -12 |
No3 k = 4 ===================================================
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
| g(x) | 5 | 4 | 3 2 | 1] ol -1 -2 1 =3
l g'(x) | -91 -8 1 -7 -6 -5 -4 -3 1 -21] -1/
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| gx) | -4 11 -5 -6 1] =71 =81 9 | 8 | 7 6 |
I g'(x) | 0 | 1 2 | 3 4 | 5 | 6 | 7| 8 |
87
No04=| x(1)=" ~P(x)=24/x =9,k=5
+r
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Diff03 for No.9872

6
dI=(f(x)=(8x+5)") 2=(fx)=2x*+2x+5))
1
3=(f(x)=46-5x) .4=(f(x):—6 j
8x +5
_ 1 1
No0Ol S=|f(x)= - ‘6:(f(x):—ﬁj
(3x"=5x+5) 3x-2
A (7x+8)"
T=f(x)=(7Tx+8) (8x—-3)) S=]f(x)= ;
i (8x-3)) |
No2 : k = 4 =================cccccc=oo ======================================
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 2 | 8 | 0 | -12 | [ 1] -5 | 1] T 2 |
| =5 | 1 7| 1 -10 | 2 | -6 | 0 | -6 | 4 |
| -4 | 0 | 6 | 2 -8 | | 3 ] 7 | -1 | -5 | 6
| -3 | -1 | 5 | 3 -6 | [ 4 ] 6 | -2 | -4 | 8 |
| -2 | -2 | 4 | 4 | -4 | |5 | 5 -3 | -3 | 10 |
| -1 | -3 | 3 5 | -2 | | 6 | 4 | -4 | -2 | 12 |
[ 0 | -4 | 2 | 6 | 0 | 7 31 -5 | -1 14 |
No3 k = 5 ===================================================
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
| g(x) | -4 1| -3 1 -2 1 -1/ 0 | 1 2 | 3 4 |
l g'(x) | 12 | 10 | 8 | 6 | 4 | 2 | o1 -2 1 -4
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | 5 | 6 | 7 8 | 91 -8 | -7 1 =-61 =51
| g'(x) | -0 | -8 | -10 | =12 | =14 | -16 | =18 | =20 | =22 |
61
No04 =| x(1)= ~P(x)=44/x—9,k=6
+r
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Diff03 for No.9873

5
I=(fx)=3x-7)"" 2=(f(x)=(2x*+3x+3))
1
3=(f(x)=4/5x-3) .4=(f(x)=—7 j
8x =7
- 1 1
No0Ol S=|f(x)= p 6:(ﬁﬂ:;F:::j
(2 +2x+7) >-2x
A (2x+3)
J=(f(x)=(2x+3) (5x+6)) .8=|f(x)= y
i (5x+6)) |
No2 : k = 6 ========================== ================c=======c=======c=====
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| £(x) | £'(x) | g(x) | g'(x) |
| -6 | -1 | 12 | -2 | -5 | [ 1] 6 | -2 | 5 2 |
| =5 | 0 | 10 | -3 | -4 | 2 | T -4 | 4 | 3
| -4 | 1 8 | -4 | -3 | [ 31 -6 | -6 | 31 4 |
| -3 | 2 | 6 | -5 | -2 | [ 4 ] -5 | -8 | 2| 5 |
| -2 | 3 4 | -6 | -1 ] |5 | -4 | -10 | 1 6
| -1 | 4 | 2| T 0 | | 6 | -3 | -12 | 0 | 7
[ 0 | 5 | 0 | 6 | 1] 7 -2 | -14 | -1 8 |
No3 : k = 7 =ss=s============c=ccccccocoooo e e
x| =8 -7 1] =61 =5 -4 -3 -2 -1] 0|
| g(x) | 0 | 1] 2 | 3 | 4 | 5 6 | 7 8 |
| g'(x) | 14 | 12 | 10 | 8 | 6 | 4 | 2| o1 -2 |
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | 1 -8 | -71 -6 | -51 -4 1| =31 -2 1 -1/
I g'(x) | -4 | -6 | -8 | -10 | =12 | -14 | -16 | -18 | =20 |
27
No04 = x(1)=", ~P(x)=44/x =5, k=4
+r
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Diff03 for No.9884

7
d=(f(x)=(5x+6)") 2=(f(x)=(4x"+3x+3))
1
3=(f(x)=47-4x) .4=(f(x)=6—j
3x +7
_ 1 1
No0Ol S=|f(x)= ; 6:(ﬁﬂ:;F:::j
3x—Tx-7) 3x-7
X (4x+5)
=f(x)=(4x+5)(5x+7)) S=]f(x)= 3
L (5x+7) ]
No2 : k = 5 ===================c=====x ======================================
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 1 14 | 1 -5 | [ 1] -6 | 0 | -6 | 2 |
| =5 | 0 | 12 | 2| -4 | 2 | T -2 | -5 | 3
| -4 | -1 | 10 | 31 -3 | [ 31 6 | -4 | -4 | 4 |
| -3 | -2 | 8 | 4 | -2 | [ 4 ] 5 | -6 | -3 | 5 |
| -2 | -3 | 6 | 5 -1 ] |5 | 4 | -8 | -2 | 6
| -1 | -4 | 4 | 6 | 0 | | 6 | 3 -10 | -1 | 7
[ 0 | -5 | 2 | T 1] 7 2 | -12 | 0 | 8 |
No3 : k = 6 ===================================================
x| =8 =71 =61 =51 -4 -3] -2| -1] 0|
g | -1 0o 11 21 3| 41 51 61 7]
| g'(x) | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 | 0 |
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | 8 | 1 -8 | -71 -6 =51 -4 1 =31 -2
I g'(x) | -2 | -4 | -6 | -8 | =10 | =12 | -14 | -16 | -18 |
87
No04 =| x(1)=" ~P(x)=84/x —5,k=5
+r
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Diff03 for No.9885

5
d=(f(x)=(5x-4)) 2=(f(x)=(2x*+2x+5))
1
3=(flx)=4/3-4x) .4=(f(x)=5—j
6x +5
- 1 1
No0Ol S=|f(x)= - ‘6:(f(x):—ﬁj
23 +2x+5) 3x-4
S (8x+3)
=f(x)=(8x+3)(7x+4)") S=]f(x)= .
. (7x+4) ) |
No2 : k = 3 ========—==—=——ccceeoeooo mmmmmm e e
x| £(x) | £ (x) | g(x) | g'(x) | x| £(x) | £1(x) | g(x) | g'(x) |
| -6 | 1] -14 | -3 | 4 | |1 -6 | 0 | 4 | -3 |
| -5 | 2 1 -12 | -4 | 3 | |2 -5 | 2 | 3 -4 |
| -4 3] -10 | -5 | 2 | |3 -4 | 4 | 2 | -5 |
| -3 | 4 -8 | -6 | 1 | |4 -3 | 6 | 1 | -6 |
| -2 | 5 1 -6 | 7 | 0 | | 5 | -2 | 8 | 0 | -7 |
| -1 | 6 | -4 | 6 | -1 | |6 | -1 | 10 | -1 | -8 |
| 0 | 7 | -2 | 5 | -2 | 7 0 | 12 | -2 | -9 |
No3 : k = 7 ===================ccccccccccce ===
| x | -8 1 =71 =61 =51 =41 -3] =21 -11 0|
g | 31 21 1] 01 -11] -2 =31 -4 -5
lg'(x) | 61 51 41 31 21 11 01 -11] =-2|
| x | 11 21 31 41 51 61 71 81 9]
| gx) | -61 -7 -81 91 81 71 61 51 4]
lg'(x) | -3 1 -4 =51 =61 =71 -8 =9 ] -10 | -11 |
37
No04 =| x(t) ==, P(x) = 8/x =3, k=38
T+t
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Diff03 for No.9895

5
d=(f(x)=(6x=-7)") 2=(fx)=2x"+2x+11))
1
3=(f(x)=+/5x=7) .4=(f(x)=7—j
8x -3
No0l = 1 1
S=|f(x)= ., 6= f(x):ﬁ
Q2 +2x+7) Sx—8
X 2x+7)
T=(f(x)=2x+7)(3x+2)) 8=|1f(x)= ;
L (3x+2) i
No2 : k = 6 ========================== ================c=======c=======c=====
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 2 | 12 | 0 | -4 | |1 -5 | -2 | 7 | 3 |
| =5 | 30 1w -1 -3 21 -4 -4 6 | 4 |
| -4 | 4 | 8 | -2 | -2 | 31 -3 | -6 | 5 | 5 |
| =3 | 5 | 61 =31 -1 41 -2 -8 4| 6 |
| =2 | 6 | 4 | -4 | 0 | |51 -1 =10 | 3 | 7 |
| -1 7 2.1 -5 1 |6 | 0| -12 | 2 | 8 |
|0 | -6 | 0 | -6 | 2 | 7 1] -14 | 1| 9 |
No3 : k = 7 =ss=s============c=ccccccocoooo e e
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
| g(x) | 2 | 31 4 | 5 | 6 | T 8 | 9 1 -8
I g'(x) | 9 | 8 | 7| 6 | 5 | 4 | 3 2 | 1
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| gxx) | -71 -6 -51 -4 1] -3 | -2 -1 0 | 1
I g'(x) | o} - -2 -31 -4 -5 -61 -7T1 -81
77
No04 =| x(t) ==, P(x)=2+/x =5, k=4
5+t
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Diff03 for No.9899

7
d=(f(x)=(3x-8)) 2=(fx)=2x*+2x+5))
1
3=(f(x)=+/4x-5) .4=(f(x):—3 j
7x =2
= 1 1
No0Ol S=|f(x)= ; 6:(ﬁﬂ:;F:::j
(2x*+2x+3) 7-3x
A (7x-3)"
T=f(x)=(7Tx-3)"(2x+5)) S=]f(x)= ;
L (2x+5) i
No2 : k = 6 ==========—=—c—ceooo oo R e
x| f(x) | £'(x) | g(x) | g'(x) | ox 1 f(x) ] (%) 1 gx) | g'(x) |
| -6 | 4 8 | -1 -12 | |1 -3 | 1 6 | 2 |
| -5 | 5 | 7 | -2 | -10 | |2 -2 | 0 | 5 | 4 |
| -4 | 6 | 6 | -3 | -8 | |3 -1 -1 | 4 | 6
| -3 | 7 5 | -4 | -6 | |4 0 | -2 | 3 8 |
| -2 | -6 | a | -5 | -4 | | 5 | 1 -3 | 2 | 10 |
| -1 | -5 | 30 -6 | -2 | |6 | 2 | -4 | 1 12 |
|0 | -4 | 2 | 7| 0 | |7 3 -5 | 0 | 14 |
NO3 : k = 6 =========—=mmmmmmoeoeoe o e e
| x | -8 =71 -6 =51 =41 =31 =21 -11 0|
| g(x) | -4 =31 -2 -1 01 11 21 3] 4|
lg'(x) | =10 | -8 | -61 -4 =21 01 21 41 6|
| x | 11 21 31 41 51 61 71 81 9]
| g(x) | 51 61 71 81 91 -8 =71 -6 =-5|
| g'(x) | 8 | 10 | 12 | 14 | 16 | 18 1 20 | 22 | 24 |
6F
No04 =| x(1) ===, P(x) = 64/x = 7, k=2
S+¢
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Diff03 for No.9920

4
I=(f(x)=3x-4)) 2=(fx)=2x*+2x+7))
1
3=(f(x)=42-7x) .4=(f(x)=—5 j
5x +7
No0I = 1 1
S=|flx)= - .6:(f(x)=—j
23 +2x+5) V-6+5x
A (7x+4)
T=(f(x)=(Tx+4)(8x-17)") S=]f(x)= ;
L (8x—=7) J
No2 : k = 2 ========================== m=====——————————————————————————————eo
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 4 | 4 | 3 -12 | [ 1 | -3 | -3 | -4 | 2 |
| =5 | 3 3 4 | -10 | 2 | -4 | -4 | -3 | 4 |
| -4 | 2 | 2 | 5 | -8 | [ 3 | -5 | -5 | -2 | 6 |
| -3 | 1 1] 6 | -6 | [ 4 ] -6 | -6 | -1 | 8 |
| -2 | 0 | 0 | T -4 | [ 5 | T -7 0 | 10 |
| -1 | -1 | -1 -6 | -2 | | 6 | 6 | -8 | 1 12 |
[ 0 | -2 | -2 | -5 | 0 | [ 7 | 5 | -9 | 2 | 14 |
No3 : k = 7 =ss=s============c=ccccccocoooo e e
| x| =8 =71 =61 =5 =41 -3] =21 -1 0|
| g(x) | =51 -4 =31 -2 -1 o1l 11 2] 3|
lg'(x) | 121 10| 81 61 41 21 0] 2] -4|
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | 4 | 5 | 6 | 7 8 | oS! -8 1| -7 1 -6
| g'(x) | -0 | -8 | -10 | =12 | =14 | -16 | =18 | =20 | =22 |
87
No04=| x(1)=", ~P(x)=84/x ~7,k=5
+r
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Diff03 for No.10000

5
d=(f(x)=(2x+3)" 2=(f(x)=(4x"+5x+5))
1
3=(f(x)=4/3-4x) .4=(f(x)=7—j
8x =5
_ 1 1
No0Ol S=|f(x)= - ‘6:(f(x):—ﬁj
QP +2x+7) 3x-4
A 2x-7)"
T=(f(x)=2x-7) (7Tx+6)) S=]f(x)= ;
i (7x+6)) |
No2 : k = 5 ===================c=====x ======================================
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 4 | 16 | 2 | -6 | [ 1] -3 | 2 | -5 | 1]
| =5 | 5 | 14 | 1 -5 | 2 | -2 | 0 | -6 | 2 |
| -4 | 6 | 12 | 0 | -4 | [ 31 -1 ] -2 | T 3
| -3 | 7| 10 | -1 -3 | [ 4 ] 0 | -4 | 6 | 4 |
| -2 | -6 | 8 | -2 | -2 | |5 | 1] -6 | S5 5 |
| -1 | -5 | 6 | -3 | -1 | | 6 | 2| -8 | 4 | 6
[ 0 | -4 | 4 | -4 | 0 | 7 31 -10 | 31 7
No3 k = 6 =====================c=—=—=—c—ccccca————— e
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
| g(x) | 2 | 1] o - -21 -3 1 -4 -51] -6/
I g'(x) | 7| 6 | 5 | 4 | 3 2 | 1 o1 -1
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | =71 -8 9 | 8 | T 6 | 5 4 | 3
l g'(x) | -2 | -3 -4 -5 -6 -7 -81 -9 1] -10 |
61
No04 =| x(1)= ~P(x)=24x ~7,k=4
+r
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Diff03 for No.10017

4
d=(f(x)=(7x-4)") 2=(f(x)=(3x"-8x+8))
1
3=(f(x)=+4/4-5x) .4=(f(x)=7—j
8x =3
_ 1 1
No0l 5= f(X): S 6:(f(x):ﬁj
2x*+2x+7) >-8x
X (8x-3)
=f(x)=(8x-3)(3x-5)") S=]f(x)= 3
L (3x-5) i
No2 : k = 6 ========================== m=====——————————————————————————————eo
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | -1 | -4 | -3 | 10 | [ 1] 6 | 31 4 | -4 |
| =5 | -2 | -3 | -2 | 8 | 2 | 5 | 4 | 5 | -6 |
| -4 | -3 | -2 | -1 | 6 | [ 31 4 | S5 6 | -8 |
| -3 | -4 | -1 0 | 4 | [ 4 ] 3 6 | 7| -10 |
| -2 | -5 | 0 | 1 2 | |5 | 2 | T -6 | -12 |
| -1 | -6 | 1] 2| 0 | | 6 | 1] 8 | -5 | -14 |
[ 0 | 7 2 | 31 -2 | 7 0 | 9 | -4 | -16
No3 k = 6 =====================c=—=—=—c—ccccca————— e
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
|l g(x) | -3 1 -2 1 -1/ 0 | 1] 2 | 31 4 | 5 |
I g'(x) | 9 | 8 | 7| 6 | 5 | 4 | 3 2 | 1
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | 6 | T 8 | ! -8 | -71 -6 -5 1 -4
I g'(x) | o} - -2 -31 -4 -5 -61 -7T1 -81
87
No04 =| x(1)=" ~ P(x)=84/x =9, k=3
+ ¢
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Diff03 for No.10025

6
d=(fx)=2x-7)"" 2=(f(x)=(4x*+5x+5))
1
3=(f(x)=+4/4-5x) .4=(f(x):—7 j
Tx +5
- 1 1
No0Ol S=|f(x)= ; 6:(ﬁﬂ:;F:::j
(25" +2x+7) 2-5x
S 2x+7)
T=(f(x)=2x+7)(5x+4)")  8=|f(x)= :
i (5x+4y) |
No2 : k = 3 ========================== ================c=======c=======c=====
I x| £x) | £'(x) | g(x) | g'(x) | I x| £(x) | £'(x) | g(x) | g'(x) |
| -6 | 4 | 16 | 4 | -7 | [ 1] -3 | 2 | -3 | 0 |
| =5 | 5 | 14 | 3 -6 | 2 | -2 | 0 | -4 | 1]
| -4 | 6 | 12 | 2 | -5 | [ 31 -1 ] -2 | -5 | 2 |
| -3 | 7| 10 | 1 -4 | [ 4 ] 0 | -4 | -6 | 3
| -2 | -6 | 8 | 0 | -3 [ 5 | 1] -6 | 7 4 |
| -1 | -5 | 6 | -1 -2 | | 6 | 2| -8 | 6 | 5 |
[ 0 | -4 | 4 | -2 | -1 ] 7 31 -10 | S5 6
No3 : k = 2 ======================cc========c======c===========
x| =8 =71 =61 =5 -4 -3 -2 -1] 0|
| g(x) | =31 -2 -1 o1l 1| 21 31 41 5|
lg'(x) | 101 81 61 41 21 0] -21 -4 -6|
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
I g(x) | 6 | T 8 | ! -8 | -71 -6 -5 1 -4
| g'(x) | -8 | =10 | =12 | =14 | -16 | =18 | =20 | =22 | =24 |
27
No04 =| x(1)= ~P(x)=84/x—9,k=6
+r
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Diff03 for No.10057

4
d=(f(x)=(5x+3)" 2=(f(x)=(3x*+8x-238) )
1
3=(f(x)=4/3x-2) .4=(f(x)=—5 j
Tx —6
_ 1 1
No0Ol S=|f(x)= - 6:(ﬁﬂ:;F:::j
2xt+2x+5) S-Tx
X (5x+2)
=f(x)=(5x+2)"(3x-38)) S=]f(x)= 3
i 3x-8)) |
No2 : k = 2 ========================== ================c=======c=======c=====
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 3 8 | 1 -10 | [ 1] -4 | 1] -6 | 4 |
| =5 | 4 | 7| 0 | -8 | 2 | -3 | 0 | 7| 6
| -4 | 5 | 6 | -1 | -6 | | 3 | -2 | -1 | 6 | 8 |
| -3 | 6 | 5 | -2 | -4 | [ 4 ] -1 -2 | 5 | 10 |
| -2 | 7 4 | -3 | -2 | |5 | 0 | -3 | 4 | 12 |
| -1 | -6 | 3 -4 | 0 | | 6 | 1] -4 | 3 14 |
[ 0 | -5 | 2 | -5 | 2 | 7 2 | -5 | 2 | 16
No3 k = 4 ===================================================
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
| g(x) | 2 | 1] o - -21 -3 1 -4 -51] -6/
I g'(x) | 5 | 4 | 3 2 | 1 ol -1 =21 -3/
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | =71 -8 9 | 8 | T 6 | 5 4 | 3
|l g'(x) | -4 11 -5 -6 -7 =81 -9 | -10 | -11 | -12 |
77
No04 =| x(1)= P(x)=44/x —9,k=38
+r
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Diff03 for No.10061

5
d=(f(x)=(5x-4)"" 2=(f(x)=3xX +2x+2))
1
3=(f(x)=4/3-4x) .4=(f(x)=7—j
3x =5
_ 1 1
No0Ol S=|f(x)= ; ‘6:(f(x):—ﬁj
Qxtr2x+7) Sx—4
X 2x-7)
=f(x)=(2x-7)"(3x+8)) S=]f(x)= 3
i 3x+8)) |
No2 : k = 5 ===================c=====x ======================================
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | -1 | -16 | 1 6 | [ 1] 6 | -2 | -6 | -1
| =5 | 0 | -14 | 0 | 5 | 2 | T 0 | 7| -2 |
| -4 | 1 -12 | -1 4 | [ 31 -6 | 2 | 6 | -3 |
| -3 | 2 | -10 | -2 | 3 [ 4 ] -5 | 4 | 5 | -4 |
| -2 | 3 -8 | -3 | 2 | |5 | -4 | 6 | 4 | -5 |
| -1 | 4 | -6 | -4 | 1 | 6 | -3 | 8 | 3 -6
[ 0 | 5 | -4 | -5 | 0 | 7 -2 | 10 | 2 | -7 |
No3 k = 4 ===================================================
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
| g(x) | -2 -1 0 | 1 2 | 3 4 | 5 6 |
|l g'(x) | -8 1 -71 -6 | -5 -4 1] -3 -2 -1/ 0 |
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | 7 8 | °S!1 -8 1 -71 -6 -51 -4 1] =3
I g'(x) | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
61
No04 =| x(1)= P(x)=24/x = 7,k=17
+r
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Diff03 for No.10071

6
d=(f(x)=3x+7)") 2=(f(x)=(2x*=5x-5))
1
3=(f(x)=4/7-8x) .4=(f(x):—3 j
3x -5
_ 1 1
No0l 5= f(X): P 6:(f(x):ﬁj
(25" +2x+3) T-2x
X (8x+7)
=f(x)=(8x+7)(3x+5)") S=]f(x)= 3
i (3x+5)y) |
No2 : k = 2 ========================== m=====——————————————————————————————eo
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 4 | 5 -2 | -10 | [ 1] -3 | -2 | 5 4 |
| =5 | 3 4 | -1 -8 | 2 | -4 | -3 | 6 | 6
| -4 | 2 | 3 | 0 | -6 | [ 3 | -5 | -4 | 7 8 |
| -3 | 1 2| 1 -4 | [ 4 ] -6 | -5 | -6 | 10 |
| -2 | 0 | 1] 2 | -2 | |5 | T -6 | -5 | 12 |
| -1 | -1 | 0 | 3 0 | | 6 | 6 | -7 -4 | 14 |
[ 0 | -2 | -1 4 | 2 | 7 5 -8 | -3 | 16
No3 k = 5 ===================================================
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
| g(x) | -4 1| -3 1 -2 1 -1/ 0 | 1 2 | 3 4 |
l g'(x) | 12 | 10 | 8 | 6 | 4 | 2 | o1 -2 1 -4
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | 5 | 6 | 7 8 | S| -8 1 -7T1 -6 1 =51
| g'(x) | -0 | -8 | -10 | =12 | =14 | -16 | =18 | =20 | =22 |
47
NoO4 =| x(1) ===, P(x) =8 4/x — 13, k=4
5+¢
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Diff03 for No.10088

7
d=(f(x)=(Tx-3)") 2=(f(x)=(2x +2x+5))
3=(f(x)=4/3x-8) .4=(f(x)=6—

3x —4
_ 1 1
No0Ol S=|f(x)= p 6:(ﬁﬂ:;F:::j
(4% +5x+5) 7-3x
S (8x+3)
T=(f(x)=(8x+3) (3x+8)) .8=|f(x)= -
I 3x+8)°) |
NO2 : k = 3 mmmmmmmmmmeeee e -
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 4 | -10 | 1 8 | [ 1] -3 | 4 | -6 | 1]
| =5 | 3 -8 | 2| 7| 2 | -4 | 6 | -5 | 0 |
| -4 | 2 -6 | 3 | 6 | | 3 | -5 | 8 | -4 | -1 |
| -3 | 1 -4 | 4 | 5 | [ 4 ] -6 | 10 | -3 | -2 |
| -2 | 0 | -2 | 5 4 | |5 | T 12 | -2 | -3 |
| -1 | -1 | 0 | 6 | 3 | 6 | 6 | 14 | -1 | -4 |
[ 0 | -2 | 2 | T 2 | 7 5 16 | 0 | -5 |
NO3 : k = 7 mmmmmmmmmmmmmm e
| x| -8 =71 =61 =51 -4 -=3] -2 -11] 0|
| g(x) | 01 -1 -2 =31 -4 -5] =61 -7 -8 |
lg'(x) | 10 81 61 41 21 0] -2 -4] =6 |
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | 9 | 8 | 7 6 | 5 | 4 | 31 2 | 1|
| g'(x) | -8 | =10 | =12 | =14 | -16 | =18 | =20 | =22 | =24 |
37
No4=| x(1)=", P(x)=24/x —11,k=5
+f
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Diff03 for No.10385

7
d=(f(x)=(5x-4)) 2=(f(x)=(2x*+2x+9))
1
3=(f(x)=+/-6+5x) .4=(f(x):—7 j
5x°+3
_ 1 1
No0Ol S=|f(x)= - 6:(ﬁﬂ:;F:::j
Qxtr2x+7) 3-Tx
X (6x+7)
T=f(x)=(6x+7)" (7x-5)) S=]f(x)= 3
L (7x-5) J
No2 : k = 2 ========================== m=====——————————————————————————————eo
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | -3 | -14 | 2 | T [ 1] 4 | 0 | -5 | 0 |
| =5 | -2 | -12 | 1 6 | 2 | 5 | 2| -6 | -1 |
| -4 | -1 | -10 | 0 | 5 | [ 31 6 | 4 | T -2 |
| -3 | 0 | -8 | -1 4 | [ 4 ] T 6 | 6 | -3 |
| -2 | 1 -6 | -2 | 31 |5 | -6 | 8 | S5 -4 |
| -1 | 2 | -4 | -3 | 2| | 6 | -5 | 10 | 4 | -5 |
[ 0 | 3 -2 | -4 | 1] 7 -4 | 12 | 31 -6 |
No3 : k = 4 =s==========ccccccccooooo e e e
x| =8 =71 =61 =5 -4 -3 -2 -1] 0|
| g(x) | =31 -2 -1 01 1| 21 31 41 5|
lg'(x) | 14| 12| 101 81 61 41 21 0] -2|
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | 6 | T 8 | ! -8 | -71 -6 -5 1 -4
I g'(x) | -4 | -6 | -8 | -10 | =12 | -14 | -16 | -18 | =20 |
87
No04 =| x(1)=" P(x)=44/x —3,k=5
+r
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Diff03 for No.10387

7
d=(f(x)=(5x+3)") 2=(f(x)=(2x*+2x+9))
1
3=(f(x)=47-8x) .4=(f(x):—6 j
3x +8
_ 1 1
No0Ol S=|f(x)= ; 6:(ﬁﬂ:;F:::j
QP +7x-7) 4x-5
X (5x+8)
=f(x)=(5x+8)(3x+5)") S=]f(x)= 3
i (3x+5)y) |
No2 : k = 5 ===================c=====x ======================================
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | -3 | 14 | 1 -6 | [ 1] 4 | 0 | -6 | 1]
| =5 | -2 | 12 | 0 | -5 | 2 | 5 | -2 | 7| 2 |
| -4 | -1 | 10 | -1 -4 | [ 31 6 | -4 | 6 | 3
| -3 | 0 | 8 | -2 | -3 | [ 4 ] T -6 | 5 | 4 |
| -2 | 1 6 | -3 | -2 | |5 | -6 | -8 | 4 | 5 |
| -1 | 2 | 4 | -4 | -1 | | 6 | -5 | -10 | 3 6
[ 0 | 3 2 | -5 | 0 | 7 -4 | -12 | 2 | 7
No3 : k = 3 ===================================================
x| =81 =71 =61 =5 -4 -3 -2| -1] 0|
| g(x) | =51 -4 =31 -2 -1 | 01l 11 2] 3|
| g'(x) | -18 | -16 | -14 | -12 | =10 | -8 | -6 | -4 | -2 |
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | 4 | 5 | 6 | 7 8 | S 1 -8 1 -7 1 -6
I g'(x) | 0 | 2 4 | 6 | 8 | 10 | 12 | 14 | 16 |
77
No04 =| x(1)= ~P(x)=84/x —9,k=5
+r
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Diff03 for No.10914

d=(f(x)=(=2+5x)"" .2:(f(x)=(2x3+3x—3)5)

3=(f(x)=4/6x-5) .4=(f(x)=+j

2x =3
No0I = 1 1
.5— f(X)— ) 6 6—(f()€)—mj
Bx +4x+4)
A 3x+7)
T=(f(x)=3x+7) (7Tx+2)) S=]f(x)= ;
L (7x+2) ]
No2 : k = 5 mmmmmmmm e R
| x| f£(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 2 | 5 1] -8 | [ 1 | -5 | -2 | -6 | 6 |
| =5 | 1] 4 | 2 -6 | |2 | -6 | -3 | -5 | 8 |
| -4 | 0 | 3] 3 -4 | [ 3 | T -4 | -4 | 10 |
| -3 | -1 | 2 4 | -2 | | 4 | 6 | -5 | -3 | 12 |
| =2 | -2 | 1] 5 | 0 | [ 5 | 5 -6 | -2 | 14 |
[ -1 | -3 | 0 | 6 | 2 | 6 | 4 | -7 | -1 | 16 |
[ 0 | -4 | -1 7 4 | [ 7 | 3] -8 | 0 | 18 |
No3 : k = 3 mommm e
| x| -8 =71 =61 =51 -4 -=3] -2 -11] 0|
| g(x) | -1 0 1 21 3] 4] 51 6] 7|
lg'(x) | 121 101 81 61 41 21 0] -2] -4|
| x | 1] 2 3 4 | 5 | 6 | T 8 | 9 |
[ g(x) | 8 | 91 -8 =71 -6 | -5 -4 -3 | =2
| g'(x) | -6 1] =8 1] =10 | -12 | -14 | -16 | =18 | =20 | =22 |
67
No0O4 =| x(t) = ,P(x)=8 -7,k=3
(=7 5P Ax
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Diff03 for No.10945

7
I=(f(x)=(3x+2)) 2=(fx)=2x*+2x+5))
1
3=(f(x)=4/3-4x) .4=(f(x)=—4 j
5x =3
- 1 1
No0Ol S=|f(x)= ; 6:(ﬁﬂ:;F:::j
2x*+3x-3) S—8x
A (7x—4)
T=(f(x)=(7Tx-4)" (3x+7)) S=]f(x)= ;
i Bx+7)) |
No2 : k = 2 ========—==—==—c—ccecoeooo mmmmmm e e
x| £(x) 1 £1(x) | g(x) | g'(x) | x| £(x) | £1(x) | g(x) | g'(x) |
| -6 | -3 | 14 | 2 | -8 | |1 4 | 0 | -5 | -1 |
| -5 | -2 | 12 | 1| -7 | 2 5 | -2 | -6 | 0 |
| -4 | -1 | 10 | 0 | -6 | 3 6 | -4 | 7| 1 |
| -3 | 0 | 8 | -1 | -5 | |4 7 | -6 | 6 | 2 |
| -2 | 1 6 | -2 | -4 | |5 | -6 | -8 | 5 | 3
| -1 | 2 | 4 | -3 | -3 | |6 | -5 | -10 | 4 | 4 |
|0 | 3 2 | -4 | -2 | 7 -4 | -12 | 3 | 5 |
No3 : k = 8 ==============—=—c—cooooooo—oooooooomooo oo
| x | =81 =71 -61 =51 -4 =3] =21 =11 0|
| g(x) | =3 -2 -1 01 1| 21 31| 4] 5|
| g'(x) | -14 | -12 | =10 | -8 | -6 | -4 | -2 1 0] 2 |
| x | 11 21 31 41 51 &1 71 81 9|
| g(x) | 61 71 81 91 -8 =71 -61] =51 -4 |
| g'(x) | 4 | 6 | 8 | 10 | 12 ] 14 | 16 | 18 | 20 |
77
No04=| x(1)=" P(x)=44/x —9,k=7
+
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Diff03 for No.10954

5
d=(f(x)=(5x-4)") 2=(f(x)=(4x =3x=-3))
1
3=(f(x)=4/3x-7) .4=(f(x):—5 j
5x +8
No0l = 1 1
S=|1f(x)= - .6:(f(x)=—j
(25" +2x+5) V245X
X (7x+5)
T=f(x)=(7Tx+5)(3x-2)") S=]f(x)= 3
i (3x-2)) |
No2 : k = 3 ========================== m=====——————————————————————————————eo
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 3 12 | 31 -8 | [ 1] -4 | -2 | -4 | -1
| =5 | 4 | 10 | 2| -7 | 2 | -3 | -4 | -5 | 0 |
| -4 | 5 8 | 1 | -6 | | 3 | -2 | -6 | -6 | 1 |
| -3 | 6 | 6 | 0 | -5 | [ 4 ] -1 -8 | 7| 2 |
| -2 | 7 4 | -1 -4 | |5 | 0 | -10 | 6 | 3 |
| -1 | -6 | 2| -2 | -3 | | 6 | 1] -12 | 5 | 4 |
[ 0 | -5 | 0 | -3 | -2 | 7 2 | -14 | 4 | 5 |
NO3 : k = 5 ==m===mmmmmmm e e e e e e e e e e e
| x| =8 =71 =61 =51 =4 -3] =21 -1 0|
g 1 31 20 11 0] -1] -21] =31 -4 -5|
| g'(x) | -12 | -10 | -8 | -6 | -4 -21] 01 21 4|
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | -6 1| =71 -8 9 | 8 | T 6 | 5 4 |
| g'(x) | 6 | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 |
47
No0d=| x(1)=" —P(x)=24/x —11,k=2
+f
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Diff03 for No.10966

5
d=(f(x)=(7x-8)") 2=(f(x)=(4x =3x=-3))
1
3=(f(x)=4/7-5x) .4=(f(x)=7—j
4x +5
_ 1 1
No0l 5= f(X): ) 6:(f(x):ﬁj
2 +2x+7) Tx=2
A (7x+6)
T=f(x)=(7Tx+6)(6x+5)) S=]f(x)= ;
i (6x+5)) |
No2 : k = 6 ========================== m=====——————————————————————————————eo
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | -2 | 12 | 4 | -6 | [ 1] 5 -2 | -3 | 1]
| =5 | -3 | 10 | 5 | -5 | 2 | 4 | -4 | -2 | 2 |
| -4 | -4 | 8 | 6 | -4 | | 3 | 3 | -6 | -1 | 3
| -3 | -5 | 6 | T -3 | [ 4 ] 2| -8 | 0 | 4 |
| -2 | -6 | 4 | -6 | -2 | |5 | 1] -10 | 1 5 |
| -1 | 7| 2| -5 | -1 | | 6 | 0 | -12 | 2| 6
[ 0 | 6 | 0 | -4 | 0 | 7 -1 -14 | 31 7
No3 k = 2 =s====================cmcmc——cacae e
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
| g(x) | 2 | 31 4 | 5 | 6 | T 8 | 9 1 -8
| g'(x) | 14 | 12 | 10 | 8 | 6 | 4 | 2| o1 -2 |
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| gxx) | -71 -6 -51 -4 1] -3 | -2 -1 0 | 1
I g'(x) | -4 | -6 | -8 | -10 | =12 | -14 | -16 | -18 | =20 |
57
Nob4=| ()= ~ P(x)=84/x —15,k=3
+f
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Diff03 for No.11154

5
d=(f(x)=(2x-7)) 2=(f(x)=(2xX +2x+9) )
1
3=(f(x)=4/8-3x) .4=(f(x):—4 j
Tx +3
_ 1 1
No0Ol S=|f(x)= ; ‘6:(f(x):—ﬁj
QX +7x-7) 6-5x
A (2x-3)"
=f(x)=(2x-3)(3x+5)) S=]f(x)= ;
i 3x+5)°) |
No2 : k = 2 ========================== ================c=======c=======c=====
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 4 | -5 | 0 | 12 | [ 1] -3 | 2 | T -2 |
| =5 | 5 | -4 | -1 10 | 2 | -2 | 3 6 | -4 |
| -4 | 6 | -3 | -2 | 8 | | 3 ] -1 | 4 | 5 -6
| -3 | 7| -2 | -3 | 6 | [ 4 ] 0 | 5 | 4 | -8 |
| -2 | -6 | -1 -4 | 4 | |5 | 1] 6 | 31 -10 |
| -1 | -5 | 0 | -5 | 2| | 6 | 2| 7| 2| -12 |
[ 0 | -4 | 1] -6 | 0 | 7 31 8 | 1 -14 |
No3 k = 4 ===================================================
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
[ g(x) | -1 | 0 | 1 2 | 31 4 | 5 6 | T
I g'(x) | 7| 6 | 5 | 4 | 3 2 | 1 o1 -1
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | 8 | 1 -8 | -71 -6 =51 -4 1 =31 -2
l g'(x) | -2 | -3 -4 -5 -6 -7 -81 -9 1] -10 |
77
NoO4 =| x(1) ==, P(x)=4+/x 9, k=4
5+t
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Diff03 for No.11191

5
d=(f(x)=3x+7)) 2=(f(x)=(2xX +2x+9) )
1
3=(f(x)=4/-5+2x) .4=(f(x)=7—j
4x -3
_ 1 1
No0l 5= f(X): ) 6:(f(x):ﬁj
(25" +2x+7) 3-S5
A (7x+2)
T=f(x)=(7Tx+2) (8x-3)) S=]f(x)= ;
i (8x-3)) |
No2 : k = 2 ========================== m=====——————————————————————————————eo
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | -1 | -8 | 1 14 | [ 1] 6 | -1 -6 | 0 |
| =5 | -2 | -7 | 2| 12 | 2 | 5 | 0 | -5 | -2 |
| -4 | -3 | -6 | 31 10 | [ 31 4 | 1] -4 | -4 |
| -3 | -4 | -5 | 4 | 8 | [ 4 ] 3 2| -3 | -6
| -2 | -5 | -4 | 5 6 | |5 | 2 | 31 -2 | -8 |
| -1 | -6 | -3 | 6 | 4 | | 6 | 1] 4 | -1 | -10 |
[ 0 | 7 -2 | T 2 | 7 0 | S5 0 | -12 |
No3 k = 2 =s====================cmcmc——cacae e
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
| g(x) | 4 | 31 2 | 1 oy -1 -2 1 =31 -4
l g'(x) | 10 | 8 | 6 | 4 | 2| ol -2 1 -4 1 -6
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | -5 -6 1 =71 =81 9 | 8 | T 6 | 5 |
| g'(x) | -8 | =10 | =12 | =14 | -16 | =18 | =20 | =22 | =24 |
617
No04 = x(1)=" P(x)=44fx —11,k=2
+f
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Diff03 for No.11309

d=(f(x)=(=3+4x)") .2=(ﬂx):(2x?+2x+11f)

3=(f(x)=+/5x-8) 4=(ﬁﬂ=‘_%_J

S5x +2

] = 1 1
No0 5= f(.X): . 6:(f(x):ﬁj
(3% —5x+5) S-Tx
s (7x-8)
T=f(x)=(7Tx-8) (5x+6)) S=]f(x)= .
L (5x+6) ]
No2 : k = 6 ========================== R e
I x| £x) | £'(x) | g(x) | g'(x) | I x| £(x) | £'(x) | g(x) | g'(x) |
| -6 1 -2 | 50 -2 -16 1 | 1| 51 -2 51 -2 |
| -5 1 -1 4] -3 -14 ] 2 61 -3 4 0 |
| -4 0 | 30 -4 -120 1 3| 70 -4 3 | 2 |
| -3 | 1| 21 -5] -0 | 4] -6 -5 | 2 | 4
| -2 | 2 | 1] -61 -81 | 5] =51 -6 | 1 6 |
| -1 | 3 0 | 70 =61 1 61 -4 =7 0 | 8 |
0 4] -1 61 -41 | 71 =31 -81] -1 10 |
No3 : k = 7 ===================c===—c—c=c—oo—ooo—oooooo—ooooooo
| x | =81 =71 -6 -5 -4 =31 =21 -1 0 |
I g(x) | 0 | 1] 2| 3 4 | S5 | 6 | 7| 8 |
I g'(x) | 10 | 8 | 6 | 4 | 2 o1 -21 -4 1 -6
| x| 1] 2 3 4 | 5 6 | 7 8 | 9 |
I g(x) | °! -81 =71 -6 -5 -4 =31 -21 -1/
| g'(x) | -8 | =10 | -12 | -14 | -16 | -18 | =20 | -22 | -24 |
s
No04 =| x(t)= ,P(x)=06 -7, k=2
(=7 P =64x
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Diff03 for No.12483

7
d=(f(x)=(4x+5)) 2=(f(x)=(2xX +2x+9) )
1
3=(f(x)=4/6x-7) .4=(f(x):—6 j
Tx +5
_ 1 1
No0Ol S=|f(x)= ; 6:(ﬁﬂ:;F:::j
2x'-5x-5) Tx-4
X (5x—4)
T=f(x)=(5x-4)(7Tx-2)") S=]f(x)= 3
i (7x-2)) |
No2 : k = 2 ========================== m=====——————————————————————————————eo
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| £(x) | £'(x) | g(x) | g'(x) |
| -6 | 3 | -4 | 2 | 8 | |1 -4 | 3 | -5 | -6 |
| =5 | 41 -3 1 6 | 21 -3 41 -6 -8 |
| -4 | 5 | -2 | 0 | 4 | 31 -2 | 5 | 71 =10 |
| =3 | 61 -1 -1 2 | 4 -1 6 | 61 -12 |
| =2 | 7 0 | -2 | 0 | |51 0 | 7 | 51 -14 |
| =11 -6 | 1 =3 -2 |6 1| 8 | 41 -16 |
|0 | -5 | 2 | -4 | -4 | 7 2 | 9 | 31 -18 |
No3 : k = 3 ================================c========c==c======
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
| g(x) | 4 | 31 2 | 1 oy -1 -2 1 =31 -4
|l g'(x) | -12 | =10 | -8 | -6 | -4 | -2 | 0 | 2 | 4 |
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | -5 -6 1 =71 =81 9 | 8 | T 6 | 5 |
| g'(x) | 6 | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 |
47
No04 =| x(1) =~ P(x)=64/x —11,k=7
+f

X [Page = 0025] XXXXXXXXXXXXXXXXXXXXKXXXKXXKXXXKKKXXXKXKXKXXXKKKXKXXXKKKXXXKKKXKXKKKK KX KKK XX KKKK XX KEKK KX KKKK XK KKK KX KKKKXKKKK



):9:0:0.9.9:9:9.9.9:0:0:0.9.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9.:0:0.:0.0.9.9.9.9.9:9:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,9:0.0.0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0:0.:0.0.9.9.9.9.9:0:0.:0.0.9.9.9.9:9:0:0:0.0.0.9.9.9.9.9.:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXKXXXXXX XX XXX XXX KKK XXX XXX XX XXX XXX LXK K LXK LXK KKK KKK XXX XXX XXX XKXXXXME/1-6800507-00026XX
Diff03 for No.12557

6
d=(f(x)=(2x+5") 2=(fx)=2x"+2x+11))
1
3=(flx)=+4/4-7x) .4=(f(x)=—4 j
5x -3
NoOT=1" 5 _| fx)= 1 6—(f(x)—;j
. - - 4 . - -_
Q2x-7x-17) VTx-38
X (8x+7)
T=(f(x)=8x+7)(7x-5)") S=]f(x)= 3
L (7x-5) i
No2 : k = 6 ========================== m=====——————————————————————————————eo
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 1| -8 | 1| 5 | [ 1] -6 | 6 | -6 | -2 |
| =5 | 0 | -6 | 2| 4 | 2 | T 8 | -5 | -3 |
| -4 | -1 | -4 | 31 31 [ 31 6 | 10 | -4 | -4 |
| -3 | -2 | -2 | 4 | 2| [ 4 ] 5 | 12 | -3 | -5 |
| -2 | -3 | 0 | 5 1] |5 | 4 | 14 | -2 | -6 |
| -1 | -4 | 2| 6 | 0 | | 6 | 3 16 | -1 | -7 |
[ 0 | -5 | 4 | T -1 ] 7 2 | 18 | 0 | -8 |
No3 k = 5 ===================================================
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
| g(x) | 3 2 | 1 o -1 -2 1 =31 -4 1] -5/
l g'(x) | -7 1 -61 -5 -4 -3 -2 -1/ 0 | 1
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | -6 1| =71 -8 9 | 8 | T 6 | 5 4 |
I g'(x) | 2 | 3 4 | 5 | 6 | 7| 8 | 9 | 10 |
37
No04 =| x(1) = ~P(x)=24/x = 9,k=7
+r
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Diff03 for No.12637

7
d=(f(x)=(2x+5)) 2=(fx)=2x*+2x+5))
1
3=(f(x)=+/8x-3) .4=(f(x)=5—j
T7x =5
_ 1 1
No0l 5= f(X): S 6:(f(x):ﬁj
Q2xtr2x+5) S—dx
A (3x—4)"
=f(x)=(3x-4)" (5x-3)) S=]f(x)= ;
L (5x-3) J
No2 : k = 3 ========—==—=——ccceeoeooo mmmmmm e e
| x| f£(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 3 4 | 1| -10 | [ 1 | -4 | -3 | -6 | 4 |
| -5 | 2 | 3 | 2 | -8 | [ 2 -5 | -4 | -5 | 6
| -4 | 1 | 2 3 -6 | | 3 | -6 | -5 | -4 | 8 |
| =3 | 0 | 1| 4 | -4 | | 4 | T -6 | -3 | 10 |
| -2 | -1 | 0 | 5 | -2 | [ 5 | 6 | -7 -2 | 12 |
[ -1 | -2 | -1 | 6 | 0 | | 6 | 5 | -8 | -1 | 14 |
[ 0 | -3 | -2 | T 2 | [ 7 | 4 | -9 | 0 | 16
No3 k = 6 ==========s=s===ss=ssssssssssssssssssssssSSss=Ss== ===
| x | -8 =71 -6 =51 -4 -3 | -2 -1/ 0 |
[ g(x) | 1| ol -1 -21 =31 =41 -51 =-61 -7/
[ g'(x) | 10 | 8 | 6 | 4 | 2 | ol -2 1 -4 1 -6
| x| 1| 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | -8 | 9 | 8 | 7 6 | 5 | 4 | 3 2 |
| g'(x) | -8 | -10 | -12 | -14 | -16 | =18 | =20 | =22 | =24 |
37
NoO4 =| x(1) ==, P(x) =4/x = 13,k=7
5+¢
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Diff03 for No.12689

5
d=(f(x)=(3x+8)) 2=(f(x)=(2X +2x+5))
3=(f(x)=4/6x-7) .4=(f(x)=7—

3x' =2
No0I = 1 1
S=]f(x)= - .6:(f(x)=—j
Qxtr2x+7) V-6+5x
A (3x+4)
=f(x)=(3x+4) (7x+8)) S=]f(x)= ;
i (7x+8)) |
No2 k = 6 ========================== e e e e e e e
| x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 4 | -6 | 4 | 10 | [ 1 | -3 | 1| -3 | -4 |
| -5 | 5 | -5 | 3 8 | [ 2 -2 | 2 | -4 | -6
| -4 | 6 | -4 | 2 | 6 | [ 3 | -1 | 3 -5 | -8 |
| =3 | T -3 | 1| 4 | | 4 | 0 | 4 | -6 | -10 |
| -2 | -6 | -2 | 0 | 2 | [ 5 | 1] 5 | T -12 |
[ -1 | -5 | -1 | -1 | 0 | | 6 | 2 | 6 | 6 | -14 |
[ 0 | -4 | 0 | -2 | -2 | [ 7 | 3 T 5 | -16 |
No3 : k = 3 ================================c========c==c======
| x| =8 =71 =61 =5 =4 -3] =21 -11] 0|
| g(x) | =41 -3 -2 -1 o 11| 21 3] 4|
lg'(x) | 51 41 31 2| 1] 0] -11] -21] -3|
| x| 1| 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| g(x) | 5 | 6 | T 8 | 91 -8 | -7 1 =-61 =51
|l g'(x) | -4 11 -5 -6 -7 =81 -9 | -10 | -11 | -12 |
47
No04 =| x(1)= ~P(x)=44x —9, k=4
+
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Diff03 for No.13349

4
d=(f(x)=(8x+3)" 2=(f(x)=(3x"=5x-5))
1
3=(f(x)=4/5x-3) .4=(f(x)=7—j
6x +7
_ 1 1
No0l 5= f(X): . 6:(f(x):ﬁj
2x*+2x+7) 2-5x
X (8x+3)
=f(x)=(8x+3)" (5x-8)) S=]f(x)= 3
L (5x-8) J
No2 : k = 6 ========================== m=====——————————————————————————————eo
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 2 | 8 | 2 | -16 | [ 1] -5 | 1] -5 | -2 |
| =5 | 3 7| 1 -14 | 2 | -4 | 0 | -6 | 0 |
| -4 | 4 | 6 | 0 | -12 | [ 31 -3 | -1 T 2 |
| -3 | 5 | 5 | -1 -10 | [ 4 ] -2 | -2 | 6 | 4 |
| -2 | 6 | 4 | -2 | -8 | |5 | -1 -3 | S5 6
| -1 | 7| 3 -3 | -6 | | 6 | 0 | -4 | 4 | 8 |
[ 0 | -6 | 2 | -4 | -4 | 7 1] -5 | 31 10 |
No3 k = 5 ===================================================
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
[ g(x) | -1 | 0 | 1 2 | 31 4 | 5 6 | T
| g'(x) | =18 | =16 | -14 | -12 | =10 | -8 | -6 | -4 | -2 |
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| g(x) | 8 | 1 -8 | -71 -6 =51 -4 1 =31 -2
| g'(x) | 0 | 2 4 | 6 | 8 | 10 | 12 | 14 | 16 |
87
No04 =| x(1) =~ P(x)=24/x —13,k=7
+f
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Diff03 for No.13519

6
I=(f(x)=(3x+5)) 2=(fx)=2x"+2x+7))
1
3=(flx)=4/-5+2x) .4=(f(x)=6—j
5x +6
- 1 1
No0l 5= f(X): ) 6:(f(x):ﬁj
(4x* —T7x+7) 6-Tx
A (7x-2)"
T=(f(x)=(7x-2) (2x+3)) S=1f(x)= ;
L (2x+3) i
No2 : k = 5 ========================== ================c=======c=======c=====
x| £(x) 1 £1(x) | g(x) | g'(x) | x| £(x) | £1(x) | g(x) | g'(x) |
| -6 | 1 | 5 | 2 1 -16 | |1 -6 | -2 | -5 | -2 |
| -5 | 2 | 4 | 1] -14 | 2 -5 | -3 | -6 | 0 |
| -4 | 3 | 3 | 01 -12 | 3 -4 | -4 | 7| 2 |
| -3 | 4 2 | -1 ] -10 | |4 -3 | -5 | 6 | 4 |
| -2 | 5 | 1 | -2 | -8 | |5 | -2 | -6 | 5 | 6 |
| -1 | 6 | 0 | -3 | -6 | |6 | -1 | -7 | 4 | 8 |
|0 | 7| -1 | -4 | -4 | 7 0 | -8 | 3 | 10 |
No3 k = 2 =s====================cmcmc——cacae e
| x | =81 =71 -61 =51 -4 =3] =21 =11 0|
| g(x) | 21 1] 0] -11 =21 =31 =41 =51 =6 |
| g'(x) | =10 | -8 | =61 -4 =21 01| 21| 4] 6|
| x | 11 21 31 41 51 &1 71 81 9|
| g(x) | =71 =81 91 81 71 61 51 4] 3|
| g'(x) | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 | 24 |
6f
No04 = x(z)=3+t2,P(x)=8f—5,k=6
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Diff03 for No.14276

5
d=(f(x)=(8x+7)") 2=(f(x)=(3x"—4x—-4))
1
3=(f(x)=44-7x) .4=(f(x)=5—j
5x =7
_ 1 1
No0l 5= f(X): . 6:(f(x):ﬁj
(2x°+2x+5) 2x-3
A 3x+7)
=f(x)=(3x+7) (8x+3)) S=]f(x)= ;
i (8x+3)) |
No2 : k = 2 ========================== m=====——————————————————————————————eo
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 2 | -16 | -2 | T [ 1] -5 | -2 | 5 0 |
| =5 | 1 -14 | -1 6 | 2 | -6 | 0 | 6 | -1 |
| -4 | 0 | -12 | 0 | 5 | [ 31 T 2 | T -2 |
| -3 | -1 | -10 | 1 4 | [ 4 ] 6 | 4 | -6 | -3 |
| -2 | -2 | -8 | 2 | 31 |5 | 5 6 | -5 | -4 |
| -1 | -3 | -6 | 3 2| | 6 | 4 | 8 | -4 | -5 |
[ 0 | -4 | -4 | 4 | 1] 7 31 10 | -3 | -6
No3 k = 5 ===================================================
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
| g(x) | 5 | 4 | 3 2 | 1] ol -1 -2 1 =3
| g'(x) | -16 | -14 | -12 | =10 | -8 | -6 | -4 | -2 | 0 |
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| gx) | -4 11 -5 -6 1] =71 =81 9 | 8 | 7 6 |
| g'(x) | 2 4 | 6 | 8 | 10 | 12 14 | 16 | 18 |
27
NoO4 =| x(1) ==, P(x)=64/x = 11,k=7
5+¢
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Diff03 for No.14380

4
d=(f(x)=(5x-17)) 2=(fx)=2x*+2x+5))
1
3=(flx)=4/4-5x) .4:@@0=—j;—J
8x -3
- 1 1
No0Ol S=|f(x)= ; ‘6:(f(x):—ﬁj
Q2% +2x+5) 7-8x
A (6x+5)"
=f(x)=(6x+5)(5x+2)) S=]f(x)= ;
i (5x+2)) |
No2 : k = 3 ========—==—=——ccceeoeooo mmmmmm e e
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | 1 | 6 | -1 | -8 | [ 1 | -6 | -1 | 6 | 6 |
| -5 | 0 | 5 | 0 | -6 | [ 2 T -2 | T 8 |
| -4 | -1 | 4 | 1| -4 | [ 3 | 6 | -3 | -6 | 10 |
| =3 | -2 | 3 | 2 | -2 | | 4 | 5 | -4 | -5 | 12 |
| -2 | -3 | 2 | 3 0 | [ 5 | 4 | -5 | -4 | 14 |
[ -1 | -4 | 1| 4 | 2 | | 6 | 3 | -6 | -3 | 16 |
[ 0 | -5 | 0 | 5 | 4 | [ 7 | 2 | -7 -2 | 18 |
No3 k = 8 ==========s=s=sss=s=sssssssssssssssssssssssssss== ===
| x | -8 =71 -6 =51 -4 -3 | -2 -1/ 0 |
| g(x) | =51 -4 1 -3 1 -2 1| -1 0 | 1| 2 | 3
I g'(x) | 6 | 5 | 4 | 3 2 | 1| ol -1 -2
| x| 1| 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| g(x) | 4 | 5 | 6 | 7 8 | 91 -8 | -7 1 -6 |
|l g'(x) | -3 | -4 -5 -6 =71 =81 =91 -10 | -11 |
617
No04 =| x(1) ==, P(x) =8 4/x = 15,k=6
5+¢
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Diff03 for No.14393

7
d=(f(x)=(5x-4)") 2=(fx)=2x*+2x+11))
1
3=(f{x)=+/5-8x) .4=(f(x)=7—j
8x' +7
_ 1 1
NoOl 5= f(.X): S 6:(f(x):ﬁj
2 +2x+7) >x -8
X 3x+7)
T=(f(x)=3x+7) (7x+4)) S=]f(x)= 3
i (Tx+4) i
No2 : k = 4 =================cccccc=oo ======================================
I x| f£(x) | £'(x) | g(x) | g'(x) | I x| f£(x) | £'(x) | gx) | g'(x) |
| -6 | -2 | -16 | -2 | T [ 1] 5 -2 | 5 0 |
| =5 | -3 | -14 | -1 6 | 2 | 4 | 0 | 6 | -1 |
| -4 | -4 | -12 | 0 | 5 | [ 31 31 2 | T -2 |
| -3 | -5 | -10 | 1 4 | [ 4 ] 2| 4 | -6 | -3 |
| -2 | -6 | -8 | 2 | 31 |5 | 1] 6 | -5 | -4 |
| -1 | 7| -6 | 3 2| | 6 | 0 | 8 | -4 | -5 |
[ 0 | 6 | -4 | 4 | 1] 7 -1 10 | -3 | -6
No3 k = 6 =====================c=—=—=—c—ccccca————— e
| x | -8 -7 -6 -51 -4 =31 -2 -1/ 0 |
| g(x) | 1 2 | 3 4 | 5 | 6 | T 8 | 9 |
I g'(x) | 6 | 5 | 4 | 3 2| 1 o1 -1 -2
| x | 1 2| 3 4 | 5 | 6 | 7| 8 | 9 |
| gx) | -8 -7 -6 -51 -4 -3 -2 -1/ 0 |
|l g'(x) | -3 -4 -5 -6 -7 -8 -9 ] -10 | -11 |
47
No04 =| x(1) =" ~P(x)=24/x = 9,k=7
+r
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